
ME 1020 Engineering Programming with MATLAB 

Problem 2.23:  

 

The command … (ellipsis) can be used to wrap a line of commands to the next line. The log command 

corresponds to the natural logarithm function.  

% Problem 2.23 

clear 

clc 

disp('Problem 2.23: Scott Thomas') 

 

% Part (a) 

disp('Part (a): plot half-life versus k') 

 

k=linspace(0.047,0.107,10); % elimination rate constant 

 

t_halflife = - log(0.5)*k.^(-1); 

 

%plot(k,t_halflife), xlabel('Elimination Rate Constant, k'),... 

    ylabel('Half Life, t (hours)') 

 

% Part (b) 

disp('Part (b): plot concentration after one hour versus k') 

 



time = 1; 

a = 1; 

C = a*(1-exp(-k*time))./k; 

 

plot(k,C), xlabel('Elimination Rate Constant, k'),... 

    ylabel('Concentration after One Hour') 
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